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o Please check that this question paper contains 7 printed pages.

Code number gives on the right hand side of the question paper should be written on the title page of
the answer - book by the candidate.

Please check that this question paper contains 30 questions.

Please write down the serial number of the question before attempting it.
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MATHEMATICS
Tfore

Time allowed : 3 hours Maximum Marks: 80
iR w4 : 3 gve fwas i - 80
General Instructions::

() All questions are compulsory.

(i) The question paper consists of 30 questions divided into four sections — A, B, C and D. Section A contains 10
questions of 1 marks each, Section B is of 5 questions of 2 marks each, Section C is of 10 questions of 3 marks
each and Section D isof 5 questions of 6 markseach.

(iii) All questions in Section A are to be answered in one word, one word, one sentence or as per the exact
requirement of question.

(iv) Thereisno overall choice. However, internal choice has been provided in one question of two marks each, three
questions of three marks each and two questions of six marks each. You have to attempt only one of the

alternativesin all such questions.

(v) In question on construction, drawings should be neat and exactly as per the given measur ements.
(vi) Use of calculatorsisnot permitted.
= o

@) o e S ¥
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SECTION A
grs 3
Question numbers 1 to 10 carry 1 marks each.
T T 1 10 T T F97 & 1 3 &/
1. Findthe LCM of 2° x 32 x 5x 11, 2*x 3* x 5°x 7, and 2° x 3 x 53 x 72 x 11.
PxFx5x11, 2*x 3 xPx7ark P xPx5x7Px 11 @ @ 4 a6 SR

2. Check whether the number given along side of the polynomial are their zeroes.

xz—z@—g;x:&/é,x:—\/é

Sifg BINY &6 ague & A1 A T3 AT IqDT AP © AT 7B |

x2—2x/37x—9;x:3\/§,x:—\/§

3. Expressthefollowing situation in the form of a quadratic equation :
“The length of a rectangle exceeds its width by 8 cm and the area of rectangle is 240 sq cm”.
1 Rafd &1 ta fgama afiaxy & wu 3 @@ S
Th AT BT faTs P! AIers I 8 WH. SITET § 3R I BT &ABol 240 9 AHL & |
4, A circular wheel of radius 28 cm, makes 300 revoluation per minute. Find the total distance covered by the wheel is one minute.
e gareR ufear e fBoar 28 9. 2, ve e # 300 I9R AT ¥ ] URY gRT UE e ¥ 99 T o @) A BT |

o 3

5. Inthegivenfigure, AB isdiameter of the circle with centre O and AC istangent. If Z/AOD = 60°, calculate ZACB.
QTS g W, TP g9 st s 08 &1 @@ AB ok el a1 ACE | e ZAOD = 60° &, dr ZACB &1 919 9i1d BIfg |

6. Expressthefollowing situation aslinear equationsin two variables:
‘5 books and 7 pens together cost Rs. 79 where as 6 pens and 9 books cost Rs. 82’.
o Rafd &1 <1 =Rt a1 g Tl # eraa HIR -
5 fharat 3R 7 941 1 SHeS BT 79 %, B W&l 6 YA 3R 9 fhamEl @ HT 82 . 7|

7. Find the perimeter of Figure 3, where YED issemi-cirdeand ABCD isa rectangle.

TRl 3 T URATY ST BT ! 4ED T efgd & e ABCD Us amd € |

A D
A 2
20 A zoiﬂﬂﬂ
v v
B 14z C

tang 1
8. Inthegivenfigure, ABCisaright angled triangle, D isthe mid-point of BC. Show that —— = —.
tang 2
. tangd 1
& 2 amafa #, ABC va wwa B 8, D, BC &1 7eg fag 2| fewrEy % 7:5 2|
tan
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A

? 6
B D c
9. Two coins are tossed simultaneously. Find the probability of getting two heads.

<1 faam! BT Ta AT BT W § | & R ure awe @1 wifdesdr sid iy |
10. For the same cumulative frequency distribution, we have ‘less than cumulative frequency curve’ and ‘more than cumulative

frequency curve’ as given below. Find the median of the distribution.
TF YHR B GO IRIRAT 9 & ol AR U ' &F ol IRaRar 99 iR ‘9 Afds Fod IRaRar a9 fQy 8| 9 &7 wregd sa

BIY |
50 50 |
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C.l.—™> AR ———>
SECTIONB
Tos g

Question numbers 11 to 15 carry 2 marks each.
T &I 11 W 15 TF TAF F97 & 2 35 &/

11. Findthe sum of all two digit numbers which when divided by 9, yield 1 as remainder.
] 3T B FERil BT ART T BN [ 9 | i v R 9w 1 W) |

12. If A and B are acute angles and sec A = cosec B, then prove that A + B = 90°.

or

N

If sin (A + B) :? = cos(A— B) and A > B, A, B are acute angles, find the values of A and B.

afs A 3R B =aior 2 8k sec A = cosec B, &, @1 g @ifvig f5 A+ B =90° 7|

[SEIE
V3
afy (A+B)=?=COS(A—B)3ﬁ'\f A>B, A, B=ar 2, dr A 3k B &7 71 s1d IR |

13. Find the value(s) of x which will make DE | | AB in the given figure.

X &1 A9 F1d g S & 7 e # DE || AB s @
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14. Inthe givenfigure, A (2, -2) is mid-point of the line segment PQ. Find the coordinates of P and Q.
Y

& TS emafa #, YaEravs PQ @1 mer—fasg A (2,-2) 21 PeiRk Q@ fdene i &I |

15. A jar contains 36 marbles, some are red and others are green. If amarble is drawn at random from the jar, the probability that it is
redis é Find the number of green marblesin the jar.
THh WK H 36 B9 g R o o € SR Ay 4 ¥ At 39 OR H & Ages A UF Far arel ST 2, @ 39 39 B A 8 @l uifded
:—13 2 OR # ® Fd @ FE 9 A |

SECTIONC
gvs |
Question numbers 16 to 25 carry 3 marks each.
T T 16 W 25 TF TAF F9T B 3 3F &/
16. If —2isazero of the polynomial 9x3+ 18x?— x — 2, then obtain all zeroes of the given polynomial.
afg —2 wgus O+ 18x°— X — 2 &1 I=IP &, al Ay TV 9gue B Wl Y e B |
17. A diamond seller sells diamond of weight 10, 20, 25 and 60 grams only. Heis allowed to use just one type of weight. What
maximum value of weights should he use as to weight each one of them accurately.
e BT fashar daet 10, 20, 25 3R 60 UM & T & ER 9T 2| IH HIT TP 8 RE B ol BT YN B BT IgAf el 81 98 I o
DI AT ARG AH WART IR MG I8 TID BT Tl | o B a0 |
18. Find the values of aand b for which the following pair of linear equations has infinite number of solutions :
2X+3y=7,(a+b+1x+(@a+2b+2y=4a+hb)+1
or
Solve the following system of linear equationsfor x and y :
2(ax —by) +a+4b=0,
2(bx+ay)+b-4a=0
a3k ba 5w a9 & forg v Rgw T T4 & o & ¢ -
2X+3y=7,(a+tb+)x+(a+2b+2)y=4a+b)+1
rerar
X Ry & g, fr R Tpror M o1 gl BN -
2(ax—by) +a+4b=0,
2(bx+ay)+b-4a=0
19. Find theratio of sum of thefirst 43 terms of an A.P. to the common difference. If the sum of thefirst 15 terms and that of the first
27 terms of this A.P. isequal.
or

A contract on construction job specifies a penalty for delay of completion beyond a certain date as follows: Rs.200 for | day,
Rs.250 for |1 day, Rs.300 for 111 day and so on. If the contractor pays Rs.27,750 as penalty, find the number of days for which the
construction work is delayed.

e AR Aol # Ugel 43 TRl TT WESR & AN BT IJUN A BT | I 59 FAMR A0 & Ugel 15 YT BT AN SR U8l 27 W&l &I AT

T B
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perar
TP SheR H REd R & arg (FM #) i 4 < 3 o 9 7oR 4 9EF @) Td R W IR © - Usd T @ g 200 w5, TR
faT @ fow 250 &, AR fRT & oy 300 &, 3R A1 YR 3=y =1 @1 ST a1 @l & | AT 98 27,750 . A & wY YT PRaTl & Al
facifaa o=t @ e fyaret |
cosA sinzA
1- tanA cosA-sinA

21. Find the point P on the x-axis which is equidistant from the points A(5, 4) and B(-2, 3). Also find the area of APAB.

20. Provethat :Rig #ifso : =CcosA +sinA

or
Determine the ratio in which the line 2x + y — 4 = 0 divide the line segment joining the points (2, —2) and (3, 7). Also find the
coordinates of the point of division.
X — 31 W fag P 5 A, o fawgeit A(5, 4) ik B(=2, 3) & 99g=y 81| APAB @1 &atdl 1 =1d aIfg |

arerdr
famgett (2, —2) &R (3, 7) & e arel Yards & ¥ 2X +y — 4 = 0, 59 argua # i axc @ 99 =a aifsng | fvrss fag &
e A s IR |
22. If the mid-point of the line joining the points (3, 4) and (k, 7) is (X, y) and satisfy the equation 2x + 2y + 1 = 0, find the value of

afe fawgatt (3, 4) &R (K, 7) &7 Siis aret Y@rEs &7 eI (X, Y) & iR wfiawor 2x + 2y + 1= 0 &1 S oot 8, ar K &1 719 =
BT |

4
23. Draw a triangle ABC with side BC = 6 cm, /B = 30°, ZA = 120°. Then construct a triangle whose sides are — times the
3

corresponding sides of AABC.
e et ABC smrsy i BC = 691, £B = 30°, ZA = 120° 2| iR & o= Br[e1 @1 a1 $ifvig rrat gemd AABC &1 &
4
24. Provethat the intercept of atangent between two parallel tangents to a subtends aright angle at the centre of the circle.
g BN @ g 3 31 IR wef Y@l & " e W YT B aEs B IR AHDI ARG B § |
25. Four equal circles are described about the four corners of a square ABCD so that each touches two of the other as shown in the
given figure. If perimeter of the shaded portion is 88 cm, find the area of the shaded portion.

A
[=

oL

¢

e g ABCD & IRl ®M W IR ¥9M g 39 T8 © & TS I &1 &I el # R ogar st owar 21 afk aRem s8 93 &,
BB WFT BT 8% dd BIRIG |

b

¢

SECTIOND
TS T
Question numbers 26 to 30 carry 6 marks each.
JoT GEIT 26 | 30 TF AB F97 & 6 35 &/
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26. On the same graph paper, draw the lines given by the following equations :
X-y=0,x+y=0and2x + 3y = 6.
Shade the triangle formed by these lines.
TP Mg BT W, &1 T GRG0 BT @ i
X-y=0,x+y=03R2x+ 3y =6.
39 @RI gRT 99 B[ &1 BTaifdha S |
27. Theangle of elevation of a cloud from a point 200 meters above alake is 30° and the angle of depression of its reflection in the
lake is 60°. Find the height of the cloud.
3 # 200 H. Sz R Red ve fIg A 912 &1 S 3o 30° 8 T 3 H 39D WBTs Bl faT @7 60° T | I_d BN HaTs A
B |
28. Provethat theratio of the areas of two similar trianglesis equal to the ratio of the squares of their corresponding sides.
Use the above for the following :
If the areas of two similar triangles are equal, prove that they are congruent.
or
In atriangle, if the square on one sideis equal to the sum of the sguares on the other two sides, prove that the angle opposite the
first sdeisaright angle.
Use the above for the following :
Determine whether the triangle having sides 7 cm, 24 cm and 25 cm isaright angled triangle.
g FIRTT 5 1 w967 B & G%d $T ST STHT T el & gUd & a9 $ qRIaR Bl 2 |
o & oty SuRTad &1 TART IR
Ife <1 FaRU Br[ell &1 dwd 994 8, O g iy 6 9 wafram 2
Jrerr
Ife el By @1 v o @ 9 3T <7 YTl & I B ART B GWIER B A g DI {5 gl Yol BT W@ BT BT B 2 |
SWRITT BT JANT &R 771 & forg IR -
o1d ARG B Byt Rt qomd 7 A8, 24 99 IR 25 WAL R, TF wHABI By 2
29. An open container made up of ametal sheet isin the form of frustum of a cone of height 8 cm with radii of its lower and upper

ends as 4 cm and 10 cm respectively. Find the cost of oil which can completely fill the container at the rate of Rs.50 per litre.

Also find the cost of metal used, if it costs Rs.5 per 100 cm?. (Use 7 = 3.14)
or

A metallic right circular cone 20 cm high and whose vertical angle is 60° is cut into two parts at the middle of its height by a

1
plane parallel toits base. If the frustum so obtained be drawn into awire of diameter — cm, find the length of the wire.

16
22
[Use ﬂ:—j
7

TP Gell g7 Bl o1 & TR 9§ 99 ¥ & o1 & MR o1 8, e Sarg 8 A, o et ok owd R 31 Bt waen 4
3R 10 W B, A 99T A R RN Y TA FT eI 50 . URT ofiex @1 R ¥ AT BN | 91 B AR BT I N T N AR AR BT A 5 %
ufer 100 ¥ &1 (m = 3.14 <)

3T
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209 . Farg AR ¥ Bror 60° dTel VP g Bl SHB SHaATs @ Sl 49 A BIGR S g¢ I W & 9FI H BT T ©, S&fd qd v b
1

MR & FHIAR %‘laﬁwwmga%%ﬂ?ﬁzmmz@.ﬁ.mwwzﬁwﬁwﬁmmiaﬁmaﬁmﬁ ST DIT |
1

(ﬁ:?maﬁﬁmj

30. Find the mean of the following frequency distribution :

No. of observation
Lessthan 10 0
Lessthan 15 5
Lessthan 20 11
Lessthan 25 19
Lessthan 30 31
Lessthan 35 37
Lessthan 40 40

91 IRaRaAr g9 ® forv Ay S PR ¢

TeTort @Y e
10% &9 0
159 349 5
209 HH 11
253 &9 19
309 %A 31
357 HH 37
40 3o 40

kkhkhkkhkkkkkkhkhkhhhkkkkkhkhkkhhhkkkkkikkkkkkx*kx
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